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DEO MAIN – 2023 
 

MENSURATION – 3D ASSIGNMENT 
 

1. A cube of side 4 cm is cut into cubes of side 1 cm. Calculate the total 
surface area of all the small cubes. 
4 nr.kP cila fd rJukhdJ 1 nr.kP cila rpwpa fd rJuq;fshf 
ntl;lg;gLfpwJ vdpy;> rpwpa fd rJuq;fspd; nkhj;j gug;G ahJ? 

 
2. The radius of solid sphere and solid hemisphere is same. Then the 

ratio of curved surface area of solid sphere, total surface area of the 
solid hemisphere and curved surface area of solid hemisphere is 
xNu MuKila jpz;k Nfhsj;jpd; nkhj;jgug;G (tisgug;G)> jpz;k 
miuf;Nfhsj;jpd; nkhj;j Gwg;gug;G kw;Wk; jpz;k miuf;Nfhsj;jpd; 
tisgug;GfSf;F cs;s tpfpjk;  

 
3. A swimming pool is 250 m long and 130 m wide. 3250 cubic metres of 

water is pumped into it. Find the rise in the level of water. 
xU ePr;ry; Fsk; 250 kP ePsKk; 130 kP mfyKk; nfhz;lJ. ,jpy; 3250 
fdkPl;lu; jz;zPu; epug;gg;gLfpwJ. vdpy; ePu; kl;lj;jpd; cau;itf; 
fhz;f. 

 
4. A tent is in the shape of a right circular cylinder surmounted by a 

cone. The total height and the diameter of the base are 13.5 m and 28 
m. If the height of the cylindrical portion is 3 m, find the total surface 
are of the tent. 
xU $lhukhdJ cUisapd; kPJ $k;G ,ize;j tbtpy; cs;sJ.  
 $lhuj;jpd; nkhj;j cauk; 13.5 kP kw;Wk; tpl;lk; 28kP.  NkYk; 
 cUisg; ghfj;jpd; cauk; 3 kP vdpy;> $lhuj;jpd; nkhj;j 
Gwg;gug;igf; fhz;f 

 
5. Find the ratio between the total surface area of a cylinder to its curved 

surface area, given that its height and radius are 7.5 cm and 3.5 cm. 
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xU cUisapd; cauk; kw;Wk; Muk; 7.5 nr.kP kw;Wk; 3.5 nr.kP. vdpy; 
nkhj;j gug;gpw;Fk; mjd; tisgug;gpw;Fk; ,ilNa cs;s tpfpjj;ijf; 
fz;lwpaTk;>  

 
6. A wall is to be constructed with length 60 m, breadth 3 m and height 5 

m. How many bricks are required to construct a wall with length 30 
cm, breadth 15 cm and height 20 cm? 
ePsk; 60kP mfyk; 3 kP cauk; 5 kP cila Rth; vOg;g ePsk; 30 nr.kP 
mfyk; 15 nr.kP cauk; 20 nr.kP cila nrq;fw;fs; vj;jid Njit?  

 

7. A right angled triangle PQR where Q= 90° is rotated about QR and PQ. 

If QR=16 cm and PR=20 cm, compare the curved surface areas of the right 

circular cones so formed by the triangle. 
PQR vd;w nrq;Nfhz Kf;Nfhzj;jpy; QR = 16 nr.kP> PR = 20 nr.kP kw;Wk;  
Q = 90° MFk;. QR kw;Wk; PQ I ika mr;Rfshff;nfhz;L Row;Wk;NghJ 
cUthFk; $k;Gfspd; tisgug;Gfis xg;gpLf.   
 

8. The total surface area of a cube is 1350 sq.m. Find its volume.  
xU fdrJuj;jpd; nkhj;j gug;G  1350 r.kP. mjd; fdmsit fz;lwpaTk;. 

 
9. A cone of maximum volume is curved out of a block of wood of size 

20 cm x 10 cm x 10 cm. Find the volume of the remaining wood. 
20 nr.kP x 10 nr.kP x 10 nr.kP msTs;s kuj; njhFjpapypUe;J 
mjpfgl;r msT $k;G ntl;b vLf;fg;gLfpwJ. kPjKs;s kuj;jpd; 
msitf; fz;lwpaTk;. 

 
 

10. A hollow cylindrical iron pipe is of length 28 cm. Its outer and inner 

diameters are 8 cm and 6 cm respectively. Find the volume of the pipe 

and weight of the pipe if 1 cu.cm of iron weighs 7 gm.( Take 
22

7
 = ) 

xU cs;sPlw;w ,Uk;G Fohapd; ePsk; 28 nr.kP> mjd; ntsp kw;Wk; 
cs;tpl;lq;fs; KiwNa 8 nr.kP kw;Wk; 6 nr.kP vdpy;> ,Uk;Gf; 
Fohapd; fd msitf; fhz;f. NkYk; 1 f.nr.kP ,Uk;gpd; vil 7 

fpuhk; vdpy;> ,Uk;Gf; Fohapd; viliaf; fhz;f. (
22

7
 = ) 

11. A cone of height 15 cm and diameter 7 cm is mounted on a 
hemisphere of same diameter. Determine the volume of the solid thus 
formed. 
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15 nrkP cauKk; 7 nrkP tpl;lKk; nfhz;l xU $k;G mNj tpl;lk; 
nfhz;l miuf;Nfhsj;jpd; Nky; nghUj;jg;gl;Ls;sJ. ,t;thW 
cUthFk; jplg;nghUspd; fdmsit fhz;f. 

 
12. The internal and external diameters of a hollow hemispherical vessel 

are 20 cm and 28 cm respectively. Find the cost to paint the vessel all 
over at ì 0.14 per cm2. 
cs;sPlw;w XH miuf;Nfhs tbtf; fpz;zj;jpw;F xU rJu nr.kP-f;F 
th;zk; G+r ì 0.14 tPjk; nrythFk;. mjd; cl;Gw kw;Wk; ntspg;Gw 
tpl;lq;fs; KiwNa 20 nr.kP kw;Wk; 28 nr.kP vdpy;> mjid 
KOikahf th;zk; G+r vt;tsT nrythFk;?  

 
13. 8 metallic sphere; each of radius 2 mm, are melted and cast into a 

single sphere. Calculate the radius of the new sphere. 
xt;nthd;Wk; 2 kp.kP Muk; nfhz;l 8 cNyhff; Nfhsq;fs; cUf;fp 
xNu Nfhskhf khw;wg;gLfpd;wJ. Gjpa Nfhsj;jpd; Muk; fzf;fplTk;. 

 

14. Johny wants to stitch a cover for his C.P.U whose length, breadth and 

height are 20 cm, 45 cm and 50 cm respectively. Find the amount he 

has to pay if it costs ì 50 per sq. m 

ePsk; mfyk; cauk; KiwNa 20 nr.kP> 45 nr.kP kw;Wk; 50 nr.kP 

msTila xU CPU tpw;F ciw ijf;f [hdp tpUk;gpdhd;. 

ciwapd; tpiy 1 rJu kPl;lUf;F ì 50 vdpy;> ciw ijf;f MFk; 
nryitf; fhz;f.  

 

15. An oil funnel of tin sheet consists of a cylindrical portion 10 cm long 

attached to a frustum of a cone. If the total height is 22 cm, the 

diameter of the cylindrical portion be 8cm and the diameter of the top 

of the funnel be 18 cm, then find the area of the tin sheet required to 

make the funnel.  

xU $k;gpd; ,ilf;fz;lk;> 10 nr.kP ePsKs;s Xh; cUisAld; 
,izf;fg;gl;l vz;nza;g; Gdypd; nkhj;j cauk; 22 nr.kP MFk;. 
cUisapd; tpl;lk; 8 nr.kP kw;Wk; Gdypd; Nkw;Gw tpl;lk; 18 nr.kP 
vdpy;> Gdiy cUthf;fj; Njitahd jfu ml;ilapd; gug;igf; 
fhz;f.  

 
 


